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11

12 BERARKICERTIMEAANE

13 (F%&-E)

14 NE N ERLLE

15 NO. V (kN/m) |  Xv (m) Yv (m) e
16 1 EEDH
17 2 wERFDH
18

19 BERNKICERTIKEAADE

20 (F&-F)

KA 3 KFEAH ERLLE

O N | Xnm | ve | (FRE

HEREDOYEEERT HHED ‘ B - R
FERZA N5 (R-B) 2 TR - th R
NO. Xp (m) Yp (m)

1 5.200 6.950

2 9.000 6.950

3 10.200 7.950

4 19.000 7.950

5

6

7

8

9

10

A3k 4




9.00 r

y (m)

8.00 | ———— | [ |
700 /

6.00

5.00 r

400

3.00

200 r

1.00 |

0.00

0.00 5.00 10.00 15.00 20.00
x (m)

J

BERNFEASIUE IR

KMKREOHFEIL. REOYERENRKEDMLEIKFEIERENES,)



TEHEE (BH)

BATCEURC L BALEDHE

24U YT T—4
HITa4/40L  [BRYHLSEMEB A BEEE
HET—X: W |
CETEEH
- FES—X EEtTEOE
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- PEEE R mENR B= 2.600 (m)
- BEEREEENA = 21.950 (° )
- EELIOBEMKEEE Y= 19.000 (kN/m®)
- BEETOREEERA = 30.000 (° )
- BELTORE S c= 0.000 (kN/m?)
s BB ANITEBBEIEES  Zc=2C/ ¥ *tan(45+ ¢ /2) = 0.000 (m)
- BREEEA 8= 20.000 (° )
CETERR
s RAIEFELDTARYA w= 419 (° )
- TIRmEE A= 18.400 (m/m)
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- IRYEER L= 11.904 (m)
- BEE Q= 17.804 (kN/m)
- xKLTE Pa= 87.525 (kN/m)
- KELE Ph=PaXcos(a+ &)= 65.095 (kN/m)
- hELXE Pv=PaX sin(a+8)= 58.509 (kN/m)
TEDNZE
90.0
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860 | ’/"/"/ﬂ’_\“\»\’ 370 | 76.113
840 | 38.0 80.512
‘c 820 r 39.0 83.751
2800 ¢ 40.0 85.937
580 r 410  87.167
;i'g I 42.0 87.524
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w0 [ sanme
(g\,b ‘5%9 ‘50& “‘Q'Q “\'Q "(‘1’9 @9 "P"Q @g w max(EE) Pmax(kN/m)
o) 41.9 87.525
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HIAA MV BRYH LS EREL - R
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LEHE&EH

a) EARGEH
EEES H= 6.700 (m)
R EER B= 2.600 (m)
-GEETEERA 0 = 21.950 (° )

b) EEL&H

-EETOEMUAKEBEES Yy = 19.000 (kN/m°)
-EELTOREERA o= 30.000 (° )
-EELTOMEN C= 0.000 (k/m)
-EREEERA § = 20.000 (° )

o) BRfEICH T DRESRM
RS TAHIER Y
BAMENEEBBD1/2&YEAICHEIE

d) BEIIHTHREEME

GREICK T ARERE Fs= 1.50
EEE R SR D B IRR Us= 0.600
VEREEE SR DB D Cb = 0.000 (k/m)
" ZEHEEEEDEHE EZELAWL

e) BT IFITHTHIRESEY
R NEMMBEXIFNE qa = 200.0 (k/m)
AR NEDOKRDA
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2. MEFE

BEORESRSIUVEAEOIEFE

(BEBBSIUVE—ASIHEREOFEREZHIDLT D)

—— BIDMIE
BE (AW EEE T ELME | =400 | EOME | E—A0F e
W (kN/m) Xg(m) M (kN*m) Yg(m) M (kN*m)
W -1 190.578 2.804 534.381 2.819 537.239 |§R{K
W -2 9.000 4.400 39.600 6.825 61.425 |4H%E
&t 199.578 2.876 573.981 3.000 598.664
PERE EERICER9 AE N E
o - FIMIBEREVE—A2F
rEED ERE & F &t E ELEE | T—AoR
q (kN/m) Xb(m) Xe(m) Q (kN/m) X(m) M (kN*m)
NOT 3.500 3.500 5.200 5.950 4.350 25.883
&t - - - 5.950 4.350 25.883
PERE EERIC{ER 9 SMED
HEES 3 KEER | E—A 0 e
V (kN/m) X(m) M (KN*m)
=51 0.000 0.000 0.000
PERE EENCAERT HKED
KFEH ERGERLVE—A2F
WMEES SREEERE | E—AVK w%E
H (kN/m) Y (m) M (KN*m)
=51 0.000 0.000 0.000
mEEE
TE  (kN) BEEE (m) E—AUR(KN=m)
ERRE e IKF IKF $NE Ein LI
W(kN/m) | H (kN/m) X(kN/m) Y (m) Mr(kN=m/m)|Mo(kN*m/m)
RARBE 199.578 0.000 2.876 3.000 573.981 0.000
EnhmE 5.950 - 4.350 - 25.883 -
$MEAN 0.000 - 0.000 - 0.000 -
IKE A - 0.000 - 0.000 - 0.000
TF 58.509 65.095 3.534 2.317 206.771 150.825
&5t 264.037 65.095 3.055 2.317 806.635 150.825
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a) BxfE|I 2t 9 B ET

BENERNMEDDELENODIERE d
> Mr— Y Mo
W
806.635 - 150.825
264.037
= 2.484 (m)

d=

ENERULEDEEPLMCDRFDERE

e:# — d
2
— 2000 ;484
2
= -1.184

SRR I HHIE

d= 2.484 B/2 = 1.300 — OK —
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b) ;BENZxT BIRET

TH= 65.095 (kN/m)
TW= 264.037 (kN/m)
Fo— u*>2W+GCs "B
>H
_ 0.600 X 264.037+0.000 X 2.600
N 65.095
__ 158422
65.095 (BB

= 2434 = Fsa = 1.500 — OK —



c) DI FENICHT HiRET RN - bl A HEEE)

RESNEREEDDRAT

case-1: EREEMNSRAIAEICHNDIEE (d<0)
case—2: HBEIEDIF LY —Fh oo TEBEFIAIIZH S, (0=d<B/3)
case-3: EHEIED1/3~1/20&HHIZH5, (B/3= d =B/2)
case—4: RN 1/2kYEFIZHSHEHEE (B/2 < d)

CUHEBERBRICEDEITHE BHE | EX¥E) Case
d<0 d<0 1
BHEIE d= 2484 (m) 0=d<B/3 0.000 2
B/3<d<B/2| 0.867 3
BATH|E : case—4 B/2 < d 1.300 4

rcase-4MDIFE . HNEH T T —#EEE T 158t (pp.163~166) D EHEE1IZKD

aqvl = 2Qv (2 -3k d)/B = 60.967 (kN/mi)
qv2 = 2Qv 3k d-1)/B = 129.555 (kN/m)
qv = MAX (gv1 , qv2) = 129.555 (kN/m)
Qv = YW-Qt -sinf = 247.679 (kN/m)
Qh = YW+ Qt -cosf = 304.639 (kN/m)
at = Ma- Kd*B-XW _ 43.773

B *sinB(1- kd)+L(1- k1/3)

vl : EREEORIAICHRETINEMBR AEKN/M)
qv2 . EBEEMOEBRAICRETHIREMBR HEKN/M)
Quv: EREEICEETHINEMBER SAKN/m)
Qh: EREEICEET HKFEMER HKN/m)
Qt: HEEEEICKAETIEmMEER SI(KN/m)
BH.dS kd'BDEXIT Q=0 T 5,
d: ENERMEDIER = 2.484 (m)
Kd*B = 1.456 <d
IW: EEE@EICET2EHMERE (kN/m)
YW= 264037 (kN/m)
Ma: DFEBIYDERE—AFKN-m/m)
Ma =2 Mr— X Mo = 655.810 (kN-m/m)
B: EMBEMENE (m)= 2.600 (m)
H: BEEE2E (m)= 6.700 (m)
L: EEETEOERER
L=H -y (1+N%= 7.224 (m)
N: BEEEG)EC 1: 0.403
0 : EREIESIA = tan '(N) = 21.950 (° )
= 0.383 (rad)
Kd, kl: TREYUKRDD
Kd= 0.560
K= 0.603

(kN/m)




EEEICAWNS kd, k|

S HEAE 1:0.3 1: 0.4 1: 0.5
Kl 0.500 0.600 0.700
K d 0.560

HETEMET BEEETHEEt 0.166)

MBI FEAICHTIRERE

AR HE gmax = 129.555 (kN/m)
IR ELE ga = 200.0 (kN/m)
HIE gmax = ga OK — OK —
4. BEFEHER
MEHEB REEH ¥ E e
i & BHUBNEEIEBBD1/2&YEBAIZHIZE — OK —
BB BEICHTEIRERER-I L — OK —
g h| HBERAENHFRREIFNEUTELGSIE




